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— data structures

(tuple, dictionary, set)
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» Python
> Sequence (3l
> list, tuple
» Non-sequence
» Dictionary(dict), set

» Operators
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e((1,2,3))=(1.,2,3)
e(range(9))
e([i*2 for i1 in range(5)])
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Tuple (F%7)2ZE1F

= fuple REEN MBS - FIERT TENSHATHE
s taar - d: T[O]=10(x
wEFEE S+
» (1,2,3)+("“Taipel”,"Tokyo",”Vienna™)
»EEERE S
» 3*%(1,3,6)
»EERES T >, <, >=, <=, ==, I=
» (],"Python”,"R") == ("Python”,”R",1) #False
»(1,2,3) <(1,23,4) # True
®» |n ] not in B&E T
» “Taipei” in (1, “Taipei”, 2, “Tokyo”) # True

» 25| B/ ERES S ([start,end])laE RS | #HE
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Tuple (B £1) % 1F (cont.)

» 25 |E R EES A ([startend]) lEE RS &

T=(5,10,15,20, 25, 30, 35, 40)

T[0] # R3E—ETE

T[2:5] #ZR3I2F4HMTE(RS=R3I5)
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Dictionary (dict)




dictionary (=)

» dictE 2R BlEF - ) REEE B o ERNTNZEH B (key:value pair) -
%%@%ﬂ‘ﬂ%ﬂ%(mopping type) - T2 (key) ARSI R EFINFHER
J1E (value)

» FEHRJFIRDIATERIZR - EEE B R

» P BYFRFHBEILUNS TH#, UFSESREZ - T#E, EE—M
» FESHE—TENIER - PIUARNGSFHEITREN T EMEIRIERRSIREE
ZE = B: E=dict() or E={}

E=dict()

E1={}

EA={"one".1,"two":2, "three":3}
EB=dict({'three".3,"two".2,"one":1})
EC=dict(one=1,two=2,three=3)
ED=dict([("two",2),("one",1),("three",3)])
print(ED)




dictiEB&E F

» dict(FH)[E ﬁ@%%ﬁﬁﬁJIIEEV?Zﬁ

»dict(FH)AZEBERERF(+)  EEESLF(¥) =
§|ikh¥([]) FEREE T ([start:end]) s Efth B)|E 7
MEENES
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» dict iz #&== Hll= - EMLLEBRES Al A E R dict




dictBizs: Frig - fIfR ~ BX

» i (key) /B (value) ¥ FERI )14

pwd={'Justin':10912398, 'John':10812890}

print(pwd['Justin'])

pwd['Helen'|=10897281 #add key value
d['Helen'|=10897310 # modify value

print(pwd)

del pwd['John'] # del keyZJohnHVkey value

print(pwd)

print(pwd.items())

print(pwd.keys())

print(pwd.values())

print(pwd.get('Helen'))

Add or modify:
dict[key]=value

Delete
del dict[key]




dictZigs: #r1g ~ MIER - 2 (cont.)

D1==D2=> D1t D28IZHER B - E[ETrue
EA={"one":1,"two":2, "three":3, "four":4, "five".5}
len(EA)

#1s5 Fforid Bl E AL dict P ARV i B £
for key in EA:

orint("## 4" key,"FTE LR ER" EAkey])
EA.get('one") #E[EIfEAE"one" ¥ RY1E
EA.pop('three") #flliRiE A three"BV#E {EILE[EE
EA.popitem() #fBR&x & —1@& & (B &[] 7% i B £
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Dictionary_#R 2 Z8

EA={"one":1,"two":2, "three":3}
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EB=dict({'four":4,"two".2,"one".1})
EC=dict({'three".3,"two".2,"one":1})

@1'one’ =& EEA dictiA
il 'ten’ =G FEEA dicty
i1 EAEIEBE & AHE
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7 H (dict) K=

®» [en(dict_name)
» dict.copy()
» dict.get(key). get its value
» dict.items(): get(key,value)
key in dict
» dict.keys(): get all key in dict
» dict.values(): get all value in dict
» dict.setdefault(key,[value]):z3& EkeyHvalue (FBEE Rl key)
» dict.update(dict_new)
» fromkeys() 7 /E 1R RAER B Avalue KBl 2 —{EH# 80 5 H




dictZ/EH -+
wWigkeyiE ~ BFR ~ BEdict KRG dicts

EA={"one":1,"tw0":2, "three".3}

n=EA.setdefault(“Ten"”) #oJXEdicCtHAR
EA/new=EA.copy()

%T(EA_new)

EA_new.clear()

print(EA_new)

EB.update(EA)
print(EB)




dictR1EB+:

seq = [name’, 'age’, 'sex’]
segl=[John',19,'F]

seq2=90
dict2=dict.fromkeys(seq,seql)
dict3=dict.fromkeys(seq,seq?2)
print(dict2)

print(dict3)
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»E5 @%&EJIIEJ%_ /ﬁﬁéa EH o N EBENENZEERIT

- \maﬁ@&i*¥(+) (g
R EEE T ([start:end]) 2k E#h &

» 2V FEES: set1=set{}

» set2={"Taipei”,”"NY"}

» set3=set([1,2,3])

» set4=set(range(5))

®» set5=sef([i*2 foriin range(5)])
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57 (1) - RSBEF([])
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SET(&£5): BLEREZE £ (>, <, >=, <=, ==, |5}

» S1={"Python','Java','matlab'}

» S?2={"Python','Java','matlab','R'}

» S3={'Python','matlab','Java'}

» print(S1==S3) #True

» print(S1 !=S2) #True

® print(S1<=S2) # True (SIES2MTER)

»print(S1<S2) # 2EGR/VPBE—EITEAFESIS
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SET#R1E

»S51={10, 20, 30, 40, 50}
»S1.add(60)
ST.remove(30)
=S1.p0p()
»S572=S1.copy()
»S].clear()
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Al=sef('1234’)
A2=set('357")
print(Al | A2)
print(A1&A2)

orint(A1-A2) # A2-A1=2

print(A1AA2)
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= dict1={"/\{E":90, /\BB":86, /\Fi':56):5 45 dict 1 ch i
=} - 8B list() K= idkeyMvaluedE gilist - 72 BlETE
keysea ¥l Kvalues$sl - B Hloopitkey kvalueif
RUED 2R (BN 45 SR 5B 1 2 E kkey=/]\1E value=90...)
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